Subject:Math(Subjective)
2-Attempt any six Short Questions

Total Marks: 60 Class:9th Time:1.45min
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Define integers and give example. _.éJJVJJIé.{J /'JJJM' g
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Express the following numbers in ordinary notation. ~£g ufﬁ.’ /(ldjf,wu 3ol K
5.06 x 1010 5.06 x 1010
® Change each of the following numbers @27 bl fsend LUtk it
from scientific notation to ordinaryn6tation. 6.35 x 105~/
6.35 x 10°
! Perform the indicated operation and sifphfy. ol J /"j Z.fé.. J Jf id..:
1+2x 1-2x . “14+42x 1-2x
1-2x 1+2x 1-2x 1+2x
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Rationlize - &b u}’ [ ,J/ &
53 o eI/
® Factorize 24x2 L65%x +21 24){2 -65x + 21 ~J,,/,df

3-Attempt any six short Questions

' Find the | P M of the following expressions. T /'l/’}”' J’ f....!inf})KUJJ'? J BELS

102xy 7, 85x° yz and 187)()/22 102xy22 85x yz and 187xyz
? Solve the equation I .. EI*lJC:JCJr—l -J/ S bl
3 2 6 3 6 -
g _‘ < 4 Solve -6< __ ,u:/qf
* Sketch a line graph y - 2x = 0 y-2x=0 - Lo
> If ordered pair (x , y) = (m , n) under c_(.JJf;‘ <J(x,y)=(m,n)in /i
what conditions is it possible? fe g
® Find the mid-point: A(0 , 0) and B(0 , - 5). A0, 0), B(O Ystd /?31"",.!&' dl/,u
’ Find the mid-point of the line segment LL.U.':(LJJ:?LB 7 /2') A9, 2) b6
joining the pair of points A(9 , 2) and B(7 ,2). )J"’Jzﬂ dlfw Kbs
® Describe S.S.S Postulate: i /UL'.F}"‘}"J LS

° Find the Value ofm and n inparallelogram r')l"‘bu’ JnA mc.ClL#Uldzlr‘.fLMNF’

4-Attempt any six short Questions

' Draw a diagram if any point in the JLLJJJ{ bl Lf(fu'/'}lb‘:..(}(’
bisector of an angle is equidstant from its arm. *’c.Lf.L-"LaJILﬁ:L/c:..UJuLL



2 3cm, 6cm, 9cm are not sides of a
triangle, Why?

T Ul 245 3em , 6cm , 9cm 2
\"u,f

* Ifin triangle ABC DE || BC then find JJ AE 5% DE | | BCJABC.J.J ’

thivalue AE such that
AC=4.8cm

5

4 .
Define ratio.

> Are the given sides those of right angled
triangle? ¢ = 34cm , b =30cm , a = 16cm

° What is meant by converse of Pythagoras theorem?

" Define area of a parallelogram:
® Bisect of angle of 90°

® What are concurrent lines?
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D_3 g gt o

-uf’,qu AE

Iy

Y VSO Py S P S U
¢=34cm,b=30cm,a= 16cm

?g_ﬂ/l{(c.. ot té’.f"‘(fg i

BT ISR TS

SIS 900 ®

-z LEsn

o

Attempt any three questions.Question no. 5 is compulsory

1 @ Solve by inverse method ~ 4x+y=9
=3x-y=-3
) Simplify:
a? " b (azu :
Tl i | ——= | X | =
[alﬂn ] [amul J ! au-.‘
2 @ Show that:
1€ 25 81 R
X hwi—i + 5 log j oL o~ =log 2
b) . i 05 o
Simplify : ——=%—+
Py =160 -4 x+2

3 @ Factorize(x ¥4)(x - 5)(x + 6)(x - 7) - 504 (x + 4)(x - 5)(x + 6)(x - 7) - 504_u:f $F @3

®) Use division method to find the square
root of the followmg expressions.

9X —6x +7x - 2% 41

2 2
=) gl
- = « 125 74
y -] ¥ -l

® Construct the triangle ABC and draw the
perpendicular bisector of their sides

mAB=2.4cm, mAC=3.2cm, m~Z A = 120"

> Prove that any point equidistant from the
end points of a line segment is on the
right bisector of it.

" Prove that the prallelograms on equal

basis and having the same (or equal)
altitude are equal in area.
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mAB=2.4cm, mAC=3.2cm, mZ A = 120°
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